-3 UduoouooueEdooog
00 FDTDOOOOOONOMO

1.0000

oboboobobobobo FEDOOOOOOOO
E0O0O0ODODOD EOCOOOOOODDODO EDOD
OEsO0D00O00000O0DOOCO0O000DOOEsOO
oobO0oooOoooooboooooooobooonn
oobooooooboooobooboooobEsOODO
gbooobOobooooboboooooboooo

2. Es0 000000000000

00000O0Es0000000000000000
000000000000000000000000
0000000000000000020000000
200 FDTDOODOO0OO0O0D000000000000
00000000 IMHzO 100kHz0 O DOOOOOO0 D0
Es00000000000000000000000
000000000000000000000000
000000000000000000000000
000000000000 (0 1(a)00000000
00 (000 1/10)00000 Es000000 1(b)00
000000000000000000000000
00000 1(c)0000000

.0000000000

goooooooooobobbboboboboooooon
O0000O0000oDO0O0000O00 100kHzD OO
O00000ooooooo skmOOOCOODODODOOO
0000 1/100300omO0000 200000000
gobooobooooooboooboooooboooDo
gobOobooobooooooooooobooboobobooon
ooboboooooosoombOOOoOonoOoOoOoooon
gobooboooooboooobooboobooooo
0000000000000 00000000 2(b)ad
oboobooboobooboooooboooDbn
oobooooooooooooooboooboonn
OO00. 0000000000DC0000s3kmbO0O0O
oobooooooooobooooooooboboooDo
000000000000 00nD 2(c)ubbooon
oobooooooooboooboooboooboboonn
gooooobooooooo

gboooogn
04120620 0000

4.000000000

obobobobo0o EsODOO0O0O0O0OO0O0ODOOD
ooooooooooDo200 FDTDOOOOODOO
gbobooooobooboooooobooboooooDnn
oobooooooooooooooboooboonn
goboooooboooooooobooooooboooDo
boboooooooboooboobooboonon
goooooooooo.obobooooooboooga
obobooooOooooboooobooooobooonn
oooboooooboobOoooboooboobooDb.o
obooooooooboooooboooboonn
oooooobooooog.

2 [km] (a) 2 [km] (b) 7 [km]

5 ERRER

0

1 0
e — ]
213310

—

‘BEIBEB] | BFEE(B] " my@mEdD]
O 1. 0000000
Z [km] (@ Z [lm] (b) Z [fm] (c)
| : .
50 10 X1[2km] 50 mX[km] 50 10 X [km]
BRO®EAB] BRDAE[dB] BROAEAB]

U2 00000000000000000000O0
oooooooo



